Council Tax Charges 2014/2015

Bath & North East Somerset Council Tax Rates 2014/15 with Parish, Police and Fire Precepts

Parish	Band A	Band B	Band C	Band D	Band E	Band F	Band G	Band H
Bath	£963.40	£1,123.97	£1,284.53	£1,445.10	£1,766.23	£2,087.36	£2,408.50	£2,890.20
Bathampton	£980.35	£1,143.75	£1,307.13	£1,470.53	£1,797.31	£2,124.10	£2,450.88	£2,941.06
Batheaston	£977.56	£1,140.50	£1,303.42	£1,466.35	£1,792.20	£2,118.06	£2,443.91	£2,932.70
Bathford	£973.42	£1,135.67	£1,297.90	£1,460.14	£1,784.61	£2,109.09	£2,433.56	£2,920.28
Cameley	£988.08	£1,152.76	£1,317.44	£1,482.12	£1,811.48	£2,140.84	£2,470.20	£2,964.24
Camerton	£991.34	£1,156.56	£1,321.78	£1,487.01	£1,817.46	£2,147.90	£2,478.35	£2,974.02
Charlcombe	£963.73	£1,124.36	£1,284.97	£1,445.60	£1,766.84	£2,088.09	£2,409.33	£2,891.20
Chelwood	£963.00	£1,123.51	£1,284.00	£1,444.51	£1,765.51	£2,086.51	£2,407.51	£2,889.02
Chew Magna	£983.36	£1,147.26	£1,311.15	£1,475.05	£1,802.84	£2,130.63	£2,458.41	£2,950.10
Chew Stoke	£980.87	£1,144.35	£1,307.83	£1,471.31	£1,798.27	£2,125.22	£2,452.18	£2,942.62
Claverton	£987.73	£1,152.36	£1,316.97	£1,481.60	£1,810.84	£2,140.09	£2,469.33	£2,963.20
Clutton	£1,005.34	£1,172.91	£1,340.46	£1,508.02	£1,843.13	£2,178.25	£2,513.36	£3,016.04
Combe Hay	£1,020.36	£1,190.42	£1,360.48	£1,530.54	£1,870.66	£2,210.78	£2,550.90	£3,061.08
Compton Dando	£975.62	£1,138.23	£1,300.83	£1,463.44	£1,788.65	£2,113.86	£2,439.06	£2,926.88
Compton Martin	£983.59	£1,147.53	£1,311.45	£1,475.39	£1,803.25	£2,131.12	£2,458.98	£2,950.78



Parish	Band A	Band B	Band C	Band D	Band E	Band F	Band G	Band H
Corston	£983.08	£1,146.93	£1,310.77	£1,474.62	£1,802.31	£2,130.00	£2,457.70	£2,949.24
Dunkerton	£979.59	£1,142.86	£1,306.12	£1,469.39	£1,795.92	£2,122.45	£2,448.98	£2,938.78
East Harptree	£979.26	£1,142.48	£1,305.68	£1,468.90	£1,795.32	£2,121.74	£2,448.16	£2,937.80
Englishcombe	£989.66	£1,154.60	£1,319.54	£1,484.49	£1,814.38	£2,144.26	£2,474.15	£2,968.98
Farmborough	£979.98	£1,143.31	£1,306.64	£1,469.97	£1,796.63	£2,123.29	£2,449.95	£2,939.94
Farrington Gurney	£980.40	£1,143.81	£1,307.20	£1,470.61	£1,797.41	£2,124.21	£2,451.01	£2,941.22
Freshford	£1,001.08	£1,167.93	£1,334.77	£1,501.62	£1,835.31	£2,169.00	£2,502.70	£3,003.24
High Littleton	£979.49	£1,142.74	£1,305.99	£1,469.24	£1,795.74	£2,122.23	£2,448.73	£2,938.48
Hinton Blewett	£989.13	£1,153.99	£1,318.84	£1,483.70	£1,813.41	£2,143.12	£2,472.83	£2,967.40
Hinton Charterhouse	£994.05	£1,159.73	£1,325.40	£1,491.08	£1,822.43	£2,153.78	£2,485.13	£2,982.16
Kelston	£972.00	£1,134.00	£1,296.00	£1,458.00	£1,782.00	£2,106.00	£2,430.00	£2,916.00
Keynsham	£1,013.85	£1,182.83	£1,351.80	£1,520.78	£1,858.73	£2,196.68	£2,534.63	£3,041.56
Marksbury	£978.08	£1,141.10	£1,304.11	£1,467.13	£1,793.16	£2,119.19	£2,445.21	£2,934.26
Midsomer Norton	£1,016.45	£1,185.86	£1,355.27	£1,524.68	£1,863.50	£2,202.31	£2,541.13	£3,049.36
Monkton Combe	£977.46	£1,140.37	£1,303.28	£1,466.19	£1,792.01	£2,117.83	£2,443.65	£2,932.38
Nempnett Thrubwell	£966.40	£1,127.48	£1,288.54	£1,449.61	£1,771.74	£2,093.88	£2,416.01	£2,899.22
Newton St. Loe	£1,001.25	£1,168.13	£1,335.00	£1,501.88	£1,835.63	£2,169.38	£2,503.13	£3,003.76
North Stoke	£959.01	£1,118.85	£1,278.68	£1,438.52	£1,758.19	£2,077.86	£2,397.53	£2,877.04
Norton Malreward	£983.35	£1,147.25	£1,311.13	£1,475.03	£1,802.81	£2,130.60	£2,458.38	£2,950.06
Paulton	£1,035.89	£1,208.54	£1,381.19	£1,553.84	£1,899.14	£2,244.43	£2,589.73	£3,107.68
Peasedown St. John	£1,010.64	£1,179.09	£1,347.52	£1,515.97	£1,852.85	£2,189.73	£2,526.61	£3,031.94

Parish	Band A	Band B	Band C	Band D	Band E	Band F	Band G	Band H
Priston	£988.34	£1,153.06	£1,317.78	£1,482.51	£1,811.96	£2,141.40	£2,470.85	£2,965.02
Publow	£974.71	£1,137.17	£1,299.61	£1,462.07	£1,786.97	£2,111.88	£2,436.78	£2,924.14
Radstock	£1,048.24	£1,222.96	£1,397.66	£1,572.37	£1,921.78	£2,271.20	£2,620.61	£3,144.74
St. Catherine	£971.37	£1,133.27	£1,295.16	£1,457.06	£1,780.85	£2,104.64	£2,428.43	£2,914.12
Saltford	£970.06	£1,131.75	£1,293.42	£1,455.10	£1,778.45	£2,101.81	£2,425.16	£2,910.20
Shoscombe	£985.64	£1,149.91	£1,314.18	£1,478.46	£1,807.01	£2,135.55	£2,464.10	£2,956.92
South Stoke	£978.43	£1,141.51	£1,304.57	£1,467.65	£1,793.79	£2,119.94	£2,446.08	£2,935.30
Stanton Drew	£976.91	£1,139.73	£1,302.55	£1,465.37	£1,791.01	£2,116.64	£2,442.28	£2,930.74
Stowey Sutton	£977.98	£1,140.99	£1,303.98	£1,466.98	£1,792.97	£2,118.97	£2,444.96	£2,933.96
Swainswick	£973.54	£1,135.80	£1,298.05	£1,460.31	£1,784.82	£2,109.33	£2,433.85	£2,920.62
Timsbury	£993.94	£1,159.60	£1,325.25	£1,490.91	£1,822.22	£2,153.53	£2,484.85	£2,981.82
Ubley	£985.96	£1,150.29	£1,314.61	£1,478.94	£1,807.59	£2,136.24	£2,464.90	£2,957.88
Wellow	£987.05	£1,151.56	£1,316.07	£1,480.58	£1,809.60	£2,138.61	£2,467.63	£2,961.16
West Harptree	£984.47	£1,148.55	£1,312.63	£1,476.71	£1,804.87	£2,133.02	£2,461.18	£2,953.42
Westfield	£1,023.54	£1,194.13	£1,364.72	£1,535.31	£1,876.49	£2,217.67	£2,558.85	£3,070.62
Whitchurch	£988.62	£1,153.39	£1,318.16	£1,482.93	£1,812.47	£2,142.01	£2,471.55	£2,965.86

Figures shown are for at least a 2 adult household with no discounts

Average Band D Council Tax 2014/15

On average (for a Band D, 2 adult household) the Council Tax for 2014/15 will be as follows:

Reference Band D 2013/14 £		£ Band D 2014/15	% Increase on 2013/14
1,201.85	Bath and North East Somerset Council	1,201.85	0.00
34.45	Average Parish Precept	35.72	3.69
64.02	Avon Fire Authority	65.30	2.00
168.03	Avon and Somerset Police	171.37	1.99
1,468.35	Total Tax charged	1,474.24	0.40

Valuation Bands for Precepting Organisations

Bath & North East Somerset Council only

Valuation Bands

Α	В	С	D	E	F	G	Н
£801.23	£934.77	£1,068.31	£1,201.85	£1,468.93	£1,736.01	£2,003.08	£2,403.70

Avon & Somerset Police Authority

Valuation Bands

Α	В	С	D	E	F	G	Н
£114.25	£133.29	£152.33	£171.37	£209.45	£247.53	£285.62	£342.74

Avon Fire Authority

Valuation Bands

Α	В	С	D	E	F	G	Н
£43.53	£50.79	£58.04	£65.30	£79.81	£94.32	£108.83	£130.60

Charter Trust / Parish Council Tax Rates 2014/15

Parish, Town Council or Charter Trust	Precept £	Tax base	Band D £
Bath	193,843	29,459.36	6.58
Bathampton	23,000	718.61	32.01
Batheaston	30,000	1,077.80	27.83
Bathford	16,895	781.44	21.62
Cameley	18,750	430.05	43.60
Camerton	11,500	237.14	48.49
Charlcombe	1,470	207.68	7.08
Chelwood	350	58.39	5.99
Chew Magna	21,500	588.62	36.53
Chew Stoke	15,000	457.40	32.79
Claverton	3,000	69.64	43.08
Clutton	38,095	548.11	69.50
Combe Hay	8,500	92.37	92.02
Compton Dando	7,011	281.32	24.92
Compton Martin	8,960	243.04	36.87
Corston	6,900	191.13	36.10
Dunkerton	6,860	222.24	30.87
East Harptree	9,150	301.23	30.38
Englishcombe	5,651	122.92	45.97
Farmborough	13,160	418.47	31.45
Farrington Gurney	10,260	319.76	32.09
Freshford	17,920	283.99	63.10
High Littleton	24,000	781.21	30.72
Hinton Blewett	6,209	137.43	45.18
Hinton Charterhouse	12,432	236.55	52.56

Nempnett Thrubwell	1,000	90.17	11.09
Newton St. Loe	4,000	63.13	63.36
North Stoke	-	43.55	0.00
Norton Malreward	4,000	109.55	36.51
Paulton	199,810	1,732.69	115.32
Peasedown St. John	160,967	2,078.25	77.45
Priston	5,460	124.11	43.99
Publow	11,000	467.08	23.55
Radstock	196,757	1,469.98	133.85
St. Catherine	750	40.46	18.54
Saltford	29,395	1,773.04	16.58
Shoscombe	6,437	161.18	39.94
South Stoke	6,680	229.35	29.13
Stanton Drew	8,416	313.44	26.85
Stowey Sutton	16,730	587.93	28.46
Swainswick	2,800	128.48	21.79
Timsbury	47,000	897.13	52.39
Ubley	6,730	166.50	40.42
Wellow	9,768	232.23	42.06
West Harptree	7,500	196.41	38.19
Westfield	158,850	1,641.20	96.79
Whitchurch	20,000	450.31	44.41
Total	2,158,571	60,433.33	35.72

Council Tax Rates 2014/15 %age increases by area

Parish, Town Council or Charter Trust	Band D	% Increase (overall)	% Increase B&NES	% Increase Fire	% Increase Police	% Increase Parish
Bath	£1,445.10	0.3%	0.00%	2.00%	1.99%	0.0%
Bathampton	£1,470.53	0.3%	0.00%	2.00%	1.99%	-1.2%
Batheaston	£1,466.35	0.9%	0.00%	2.00%	1.99%	48.0%
Bathford	£1,460.14	0.2%	0.00%	2.00%	1.99%	-4.4%
Cameley	£1,482.12	0.3%	0.00%	2.00%	1.99%	-1.8%
Camerton	£1,487.01	0.3%	0.00%	2.00%	1.99%	-1.4%
Charlcombe	£1,445.60	0.3%	0.00%	2.00%	1.99%	-1.0%
Chelwood	£1,444.51	0.3%	0.00%	2.00%	1.99%	3.1%
Chew Magna	£1,475.05	0.3%	0.00%	2.00%	1.99%	1.3%
Chew Stoke	£1,471.31	0.3%	0.00%	2.00%	1.99%	-0.6%
Claverton	£1,481.60	0.3%	0.00%	2.00%	1.99%	-1.0%
Clutton	£1,508.02	2.8%	0.00%	2.00%	1.99%	114.9%
Combe Hay	£1,530.54	0.1%	0.00%	2.00%	1.99%	-2.6%
Compton Dando	£1,463.44	0.4%	0.00%	2.00%	1.99%	3.5%
Compton Martin	£1,475.39	0.3%	0.00%	2.00%	1.99%	-1.9%
Corston	£1,474.62	0.2%	0.00%	2.00%	1.99%	-2.6%
Dunkerton	£1,469.39	0.3%	0.00%	2.00%	1.99%	1.2%
East Harptree	£1,468.90	0.5%	0.00%	2.00%	1.99%	12.6%
Englishcombe	£1,484.49	0.7%	0.00%	2.00%	1.99%	14.1%
Farmborough	£1,469.97	0.3%	0.00%	2.00%	1.99%	-1.0%
Farrington Gurney	£1,470.61	0.3%	0.00%	2.00%	1.99%	-2.3%
Freshford	£1,501.62	1.5%	0.00%	2.00%	1.99%	37.2%
High Littleton	£1,469.24	0.4%	0.00%	2.00%	1.99%	1.8%
Hinton Blewett	£1,483.70	1.1%	0.00%	2.00%	1.99%	37.0%

Hinton Charterhouse	£1,491.08	0.3%	0.00%	2.00%	1.99%	-0.9%
Kelston	£1,458.00	0.3%	0.00%	2.00%	1.99%	2.4%
Keynsham	£1,520.78	0.4%	0.00%	2.00%	1.99%	2.5%
Marksbury	£1,467.13	0.3%	0.00%	2.00%	1.99%	-1.2%
Midsomer Norton	£1,524.68	0.3%	0.00%	2.00%	1.99%	0.0%
Monkton Combe	£1,466.19	0.8%	0.00%	2.00%	1.99%	30.0%
Nempnett Thrubwell	£1,449.61	-0.2%	0.00%	2.00%	1.99%	-42.2%
Newton St. Loe	£1,501.88	0.3%	0.00%	2.00%	1.99%	-1.3%
North Stoke	£1,438.52	0.3%	0.00%	2.00%	1.99%	0.0%
Norton Malreward	£1,475.03	0.5%	0.00%	2.00%	1.99%	6.4%
Paulton	£1,553.84	0.3%	0.00%	2.00%	1.99%	0.0%
Peasedown St. John	£1,515.97	0.5%	0.00%	2.00%	1.99%	3.7%
Priston	£1,482.51	0.7%	0.00%	2.00%	1.99%	12.9%
Publow	£1,462.07	0.3%	0.00%	2.00%	1.99%	-1.5%
Radstock	£1,572.37	0.3%	0.00%	2.00%	1.99%	0.0%
St. Catherine	£1,457.06	0.3%	0.00%	2.00%	1.99%	-1.1%
Saltford	£1,455.10	0.6%	0.00%	2.00%	1.99%	27.9%
Shoscombe	£1,478.46	0.4%	0.00%	2.00%	1.99%	3.4%
South Stoke	£1,467.65	0.9%	0.00%	2.00%	1.99%	41.3%
Stanton Drew	£1,465.37	0.3%	0.00%	2.00%	1.99%	-1.5%
Stowey Sutton	£1,466.98	0.4%	0.00%	2.00%	1.99%	3.9%
Swainswick	£1,460.31	0.3%	0.00%	2.00%	1.99%	-0.5%
Timsbury	£1,490.91	0.8%	0.00%	2.00%	1.99%	14.9%
Ubley	£1,478.94	0.3%	0.00%	2.00%	1.99%	-1.5%
Wellow	£1,480.58	0.5%	0.00%	2.00%	1.99%	5.1%
West Harptree	£1,476.71	0.3%	0.00%	2.00%	1.99%	-1.4%
Westfield	£1,535.31	0.3%	0.00%	2.00%	1.99%	0.0%
Whitchurch	£1,482.93	0.3%	0.00%	2.00%	1.99%	-1.5%
			•		•	•